This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 3 - Cumbernauld South

5,713

4

1,143

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ann BALLINGER	Scottish National Party (SNP)	1,089
Norma Mclachlan DIFFIN	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	77
William GOLDIE	Scottish National Party (SNP)	959
Willie HOMER	Scottish Socialist Party - Save Public Services	154
Cathie JOHNSTON	Scottish National Party (SNP)	910
Rebecca MACPHEE	Scottish Conservative and Unionist	453
Peter MCDADE	Scottish Labour Party	656
James MCPHILEMY	Scottish Labour Party	1,374
Simona PANAITESCU	Freedom Alliance. No More Experimental Jabs.	41
	Total	5,713

Candidate James MCPHILEMY Elected with 1,374 votes, being in excess of the quota of 1,143

This report contains the transfers results.

Stage 2 - Surplus of James MCPHILEMY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ann BALLINGER	20	0.16812	3.36240
Transfer to William GOLDIE	24	0.16812	4.03488
Transfer to Willie HOMER	10	0.16812	1.68120
Transfer to Cathie JOHNSTON	26	0.16812	4.37112
Transfer to Rebecca MACPHEE	26	0.16812	4.37112
Transfer to Peter MCDADE	1,195	0.16812	200.90340
Transfer to Simona PANAITESCU	6	0.16812	1.00872
No further preference	62	0.16812	10.42344
Not transferred due to rounding			0.00312
	Total		231.00000

This report contains the transfers results.

Stage 3 - Exclusion of Simona PANAITESCU

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norma Mclachlan DIFFIN	14	1.00000	14.00000
Transfer to William GOLDIE	1	1.00000	1.00000
Transfer to Willie HOMER	9	1.00000	9.00000
Transfer to Cathie JOHNSTON	2	1.00000	2.00000
Transfer to Rebecca MACPHEE	3	1.00000	3.00000
Transfer to Peter MCDADE	5	1.00000	5.00000
Transfer to Norma Mclachlan DIFFIN	1	0.16812	0.16812
Transfer to Peter MCDADE	3	0.16812	0.50436
No further preference	7	1.00000	7.00000
No further preference	2	0.16812	0.33624
Not transferred due to rounding			0.00000
	Total		42.00872

This report contains the transfers results.

Stage 4 - Exclusion of Norma Mclachlan DIFFIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ann BALLINGER	4	1.00000	4.00000
Transfer to William GOLDIE	2	1.00000	2.00000
Transfer to Willie HOMER	12	1.00000	12.00000
Transfer to Cathie JOHNSTON	4	1.00000	4.00000
Transfer to Rebecca MACPHEE	21	1.00000	21.00000
Transfer to Peter MCDADE	19	1.00000	19.00000
Transfer to Willie HOMER	1	0.16812	0.16812
Transfer to Cathie JOHNSTON	1	0.16812	0.16812
Transfer to Peter MCDADE	2	0.16812	0.33624
No further preference	29	1.00000	29.00000
No further preference	2	0.16812	0.33624
Not transferred due to rounding			0.00000
	Total		92.00872

This report contains the transfers results.

Stage 5 - Exclusion of Willie HOMER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ann BALLINGER	26	1.00000	26.00000
Transfer to William GOLDIE	29	1.00000	29.00000
Transfer to Cathie JOHNSTON	23	1.00000	23.00000
Transfer to Rebecca MACPHEE	15	1.00000	15.00000
Transfer to Peter MCDADE	40	1.00000	40.00000
Transfer to Ann BALLINGER	1	0.16812	0.16812
Transfer to William GOLDIE	1	0.16812	0.16812
Transfer to Cathie JOHNSTON	1	0.16812	0.16812
Transfer to Rebecca MACPHEE	2	0.16812	0.33624
Transfer to Peter MCDADE	5	0.16812	0.84060
No further preference	42	1.00000	42.00000
No further preference	1	0.16812	0.16812
Not transferred due to rounding			0.00000
	Total		176.84932

This report contains the transfers results.

Stage 6 - Exclusion of Rebecca MACPHEE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ann BALLINGER	5	1.00000	5.00000
Transfer to William GOLDIE	10	1.00000	10.00000
Transfer to Cathie JOHNSTON	12	1.00000	12.00000
Transfer to Peter MCDADE	229	1.00000	229.00000
Transfer to William GOLDIE	1	0.16812	0.16812
Transfer to Cathie JOHNSTON	2	0.16812	0.33624
Transfer to Peter MCDADE	15	0.16812	2.52180
No further preference	236	1.00000	236.00000
No further preference	10	0.16812	1.68120
Not transferred due to rounding			0.00000
	Total		496.70736

This report contains the transfers results.

Stage 7 - Surplus of Peter MCDADE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	740	0.00962	7.11880
No further preference	983	0.00161	1.58263
Not transferred due to rounding			0.01282
	Total		11.10640

This report contains the transfers results.

Stage 8 - Exclusion of Cathie JOHNSTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ann BALLINGER	553	1.00000	553.00000
Transfer to William GOLDIE	353	1.00000	353.00000
Transfer to Ann BALLINGER	8	0.16812	1.34496
Transfer to William GOLDIE	9	0.16812	1.51308
Transfer to Ann BALLINGER	14	0.00962	0.13468
Transfer to William GOLDIE	31	0.00962	0.29822
Transfer to Ann BALLINGER	13	0.00161	0.02093
Transfer to William GOLDIE	39	0.00161	0.06279
No further preference	45	1.00000	45.00000
No further preference	13	0.16812	2.18556
No further preference	31	0.00962	0.29822
No further preference	42	0.00161	0.06762
Not transferred due to rounding			0.00000
	Total		956.92606